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��� ����3�!�� 	& �! �������� �� ��
�!����	! 	& ��� �	���! �!� ��
 4	�!���5
��
 4��!  	�!��� 	�� 45 
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�� 67� -� �� 7�8 ��	!( 	����
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 	& �������5 �
 	4
��3�� 0��! � ��!���
�  �	#�����	! 	& ��� 4	�!���5 �
 �
��� 
�� 678% ��

� �!� ��4�5 678 
�	0��
����� �! ���  ��
�!�� 	& ���3�� 4	�!�����
� � ���!�!(&�� ��(��	���� ��������

	����	! ��! 	!�5 4� 	4���!�� �& ��� �	���
 	!��!( ��(��	���� �  �	#�����	!
	& ��� (�	����5 �
 �� �	5�� :�%�% �
	 ��������� ;!��� �����!�
<% �! &���� ��
�
 !���
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��!� 4	�!���5 ��
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�� 67�8% �! 6-8 ��� 
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*�#0��� �2����	!
 ��� ��
	 3��5 
�!
���3� �	 ��� 2�����5 	& ��� 4	�!���5
�� ��
�!����	!% @	0�3��� �	
� 	& ���  �4��
��� 0	�/
 	! ��� +. ����	�

&	� ������	���! *�#0���1
 �2����	!
 ��/� �
� 	& 
����(���
���� �����!�
 �	
�  �	#����� ��� (�	����5 �!� �	 !	� �!����� ��� 
���5 	& ��� (�	��������
���	�� 
�� 6�� )� �� ,8 �	 !��� � &�0% ���  ��
�!� 0	�/ �
 �! 
	�� 
�!
� �	� ���
��!���5 �	 ���  ��3�	�
 	!�
 �! ���� 0� �	!
���� �
	 ��������� ����!�2��
 &	�
�	���!
 0��� ���3�� 4	�!�����
% �!  ���������� 0� 
�	0 ���� ��� +. ����	�
�
 �!�������� &	� ���3�� �	���!
 	! ��� 	!� ��!�� �!� ���� � ��(����	����
4	�!���5 �� ��
�!����	! �!��	����
 � �������� �� �	3���!� �! ��� �������5
	& ��� !�������� �  �	#�����	! 	! ��� 	���� ��!�%

� 4�	�� 	����!� 	& ���  � �� &	��	0
% �����	! � ������
 ��� 
5
��� 	&
*�#0��� �2����	!
 �!� ��
 +. ��
�����>���	! 0���� �
 4�
�� 	! �	����5 ��!�����
!�������� 9�#�
 �!� � &	�����	���� ��� �&�	( ���� 
�����% ��� �
	 �������
��� ����!(���� �����!�
 ��� ��
���4�� �! �����	! �� 0��� 
 ����� ����!��	! �	
��� �!��� 	����	! �!� !�������� �!��(����	! �! ��	
� �����!�
 0��� 	!� ���3��
&���% �����	! �  ��
�!�
 !�������� �#�� ��
 	! ���3���!��� �	���!
 &	� �+
 �	 �(���	!  �	4���
 �! �	�	(�!�	�
 �!� �����	(�!�	�
 �����% ��� ��
���

������5 ���	!
����� ��� �	�� 	& ��� (�	����5 �  �	#�����	! �! ��� �������5 	&
��� ��(��	���� +. ����	�%
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 ���
���

A� �	!
���� ��� ������	���! *�#0��� �2����	!
 �! �0	 
 ��� ����!
�	!
 &	�
�����	(�!�	�
 ��!��� ����� 0��� !	 
	����% ��� �������� ;��� �E(�x, t) �!� ���

��(!���� ;��� �H(�x, t) 3���&5B

ε∂t
�E = ���� �H, μ∂t

�H = −���� �E, :7<

0���� ��� 
5�4	� ∂t ��!	��
 � ���� ����3���3�% ���
� �2����	!
 ��� 
�� 	! �
4	�!��� �	���! Ω 	& R3% ��� ��������  �������3��5 ��!
	� ε(�x) �!� ��� ��(�
!����  �����4����5 ��!
	� μ(�x) ��� ������!3����!� �!� 4	�� 
5�������  	
��
��3� ��;!���% C�� (	�� �
 �	 
	�3� 
5
��� :7< �! � �	���! Ω 0��� 4	�!���5
∂Ω = Γa ∪ Γm� 0���� 0� �� 	
� ��� &	��	0�!( 4	�!���5 �	!����	!
B{

�n × �E = 0 	! Γm,

L(�E, �H) = L(�E���, �H���) 	! Γa,
:�<

0���� L(�E, �H) = �n× �E+ cμ�n× (�n× �H)% @��� �n ��!	��
 ��� �!����5 	��0���


!	���� �	 ∂Ω� c = 1/
√

εμ �
 ��� 
 ��� 	&  �	 �(���	! �!� (�E���, �H���) �
 � (�3�!
�!����!� ;���% ��� ;�
� 4	�!���5 �	!����	! �
 ������ �������� 	� �	
 :��&����!(
�	 �  ��&����5 �����������5 �	!�����!( 
��&���< 0���� ��� 
��	!� �	!����	! �
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� ����������� �

���� ��)

������ ���
����� �!� ��/�
 ���� ��� &	�� 	& ��� ���3���*D���� �	!����	! 0����
�
 � ;�
��	���� �  �	#�����	! 	& ��� �#��� �4
	�4�!( 4	�!���5 �	!����	!% ���

�4
	�4�!( �	!����	! �
 �  ���� 	! Γa 0���� �� ��
�!�
 �! ����;���� ���!����	!
	& ��� �	� �����	!�� �	���!% $�!���5� 
5
��� :7< �
 
�  ����!��� 0��� �!�����

�	!����	!
B �E0(�x) = �E(�x, 0) �!� �H0(�x) = �H(�x, 0)%

��� ��
����������� �� 
����

A� �	!
���� �  ������	! Th 	& Ω �!�	 � 
�� 	& 
����(���
���� 	� ���3�� ����!(��

τi 	& 
�>� hi 0��� 4	�!�����
 ∂τi 
��� ���� h = maxτi∈Th

hi% $	� ���� τi� εi �!�
μi ��� ��
 ����3��5 ���  ����0�
� �	!
��!� ��������  �������3��5 �!� ��(!����
 �����4����5 	& ��� ������% $	� �0	 ��
��!�� �����!�
 τi �!� τk �! Th� ���
:!	!��� �5< �!���
����	! aik = τi ∩ τk �
 ������ �! �!���&���% $	� ���� �!���!��
�!���&��� aik� 0� ��!	�� 45 �nik ��� �!����5 !	���� 3���	�� 	���!��� &�	� τi �	
τk% $	� 4	�!���5 �!���&���
� ��� �!��# k �	���
 	!�
 �	 � ;�����	�
 �����!�
	��
��� Ω% ��� F i

h 4� ��� 
�� 	& �!����	� �!���&���
 	& Th� Fm
h �!� Fa

h ��� 
��
 	&
�������� �!� �4
	�4�!( 4	�!���5 �!���&���
 	& Th� �!� ��� Fh = F i

h ∪Fm
h ∪Fa

h %
A� ��!	�� 45 Vi ��� 
�� 	& �!����
 	& ��� �����!�
 0���� ��� !��(�4	�
 	& τi

:��3�!( �! �!���&��� �! �	��	!<% ��� τr 4� � ;#�� ��
��� ����!(��� 0� �

���
���� ���� τi ∈ Th �
 ��� ���(�� �!��� � 4�
����3� ��  �!( Ψτi

� 	& ��� ��
���
�����!� τr� ���� �
 τi = Ψτi

(τr), ∀τi ∈ Th% ���!� �	 ���� τi ∈ Th� 0� �

�(! �
!	!�!�(���3� �!��(�� pi ���� �
 ��� �	��� �!��� 	����	! ��(��� �!� 0� �	����� ���
pi �!� Ψτi

�! ��� 3���	�
 p = {pi : τi ∈ Th} �!� Ψh = {Ψτi
: τi ∈ Th}% �! ���

&	��	0�!(� &	� � (�3�!  ������	! Th �!� 3���	�
 p �!� Ψh� 0� 
��/ �  �	#�����

	����	!
 �	 E2% :7< �! ��� ;!��� �����!� 
 ���B

Vp(Th,ΨΨΨh) = {�u ∈ L2(Ω)3 : uk|τi
◦ Ψτi

∈ Ppi
(τr), &	� k = 1, 2, 3, ∀τi ∈ Th},

0���� Ppi
(τr) ��!	��
 ��� 
 ��� 	& !	���  	�5!	����
 	& ��(��� �� �	
� pi

�!
��� ��� �����!� τr%

$	��	0�!( ��� ��
�	!��!�	�
 .����/�! �  �	���� ��� �������� �!� ��(!����
;���
 �!
��� ���� ;!��� �����!� ��� 
��/�� &	� �
 ��!��� �	�4�!���	!
 	& ��!����5
�!�� �!��!� 4�
�
 3���	� ;���
 �ϕij, 1 ≤ j ≤ di� 0���� di = (pi + 1)(pi + 2)/2

��!	��
 ��� �	��� !��4�� 	& ��(���
 	& &����	� �!
��� τiB �Ei ≡ �Eh|τi
=∑

1≤j≤di
Eij �ϕij �!� �Hi ≡ �Hh|τi

=
∑

1≤j≤di
Hij �ϕij % ��� �  �	#����� ;���
 ���

���	0�� �	 4� ��
�	!��!�	�
 ���	

 �����!� 4	�!�����
% $	� 
��� � ��
�	!��!�
�	�
 ;��� �Uh� 0� ��;!� ��
 �3���(� {�Uh}ik ���	�(� �!5 �!���!�� �!���&��� aik�

�
 {�Uh}ik = (�Ui|aik
+ �Uk|aik

)/2% +	������� �5�!( E2% :7< 45 �ϕ ∈ ����( �ϕij, 1 ≤
j ≤ di)� �!��(����!( 	3�� τi �!� �!��(����!( 45  ���
� 5����
B⎧⎨
⎩

∫
τi

�ϕ · εi∂t
�E =

∫
τi
�����ϕ · �H −

∫
∂τi

�ϕ · (�H× �n),∫
τi

�ϕ · μi∂t
�H = −

∫
τi
�����ϕ · �E +

∫
∂τi

�ϕ · (�E × �n).
:�<



��� �� ����

�! E2% :�<� 0� !	0 �� ���� ��� �#��� ;���
 �E �!� �H 45 ��� �  �	#����� ;���
 �Ei

�!� �Hi �! 	���� �	 �3������ 3	���� �!��(���
% $	� �!��(���
 	3�� ∂τi� � 
 ���;�
�������!� ��
� 4� �!��	����� 
�!�� ��� �  �	#����� ;���
 ��� ��
�	!��!�	�

���	�(� �����!� &���
� �����!( �	 ��� ��;!���	! 	& � ��������� ���% A� ��		
�
�	 �
� � &���5 ��!����� !�������� 9�#� �%�%� ∀i,∀k ∈ Vi, �E|aik


 {�Eh}ik, �H|aik



{�Hh}ik% E3������!( ��� 
��&��� �!��(���
 �! E2% :�< �
�!( ��� ��!����� !��������
9�#� �!� ����!��(����!( 45  ���
 5����
B⎧⎪⎨
⎪⎩

∫
τi

�ϕ · εi∂t
�Ei = 1

2

∫
τi
(�����ϕ · �Hi + �����Hi · �ϕ) − 1

2

∑
k∈Vi

∫
aik

�ϕ · (�Hk × �nik),∫
τi

�ϕ · μi∂t
�Hi = −1

2

∫
τi
(�����ϕ · �Ei + �����Ei · �ϕ) + 1

2

∑
k∈Vi

∫
aik

�ϕ · (�Ek × �nik).
:�<

��� �������� 4	�!���5 �	!����	! 	! � 4	�!���5 �!���&��� aik ∈ Γm :k �! ���
�����!� �!��# 	& ��� ;�����	�
 !��(�4	��!( �����!�< �
 ����� 0��� ������� �! ���


�!
� ���� �����
 	& ;�����	�
 ;���
 �Ek �!� �Hk ��� �
�� &	� ��� �	� �����	! 	&
!�������� 9�#�
 &	� ��� 4	�!���5 �����!� τi% *	��  ����
��5� 0� 
�� �Ek|aik

=

−�Ei|aik
�!� �Hk|aik

= �Hi|aik
% � 
������ �  �	��� �
 �  ���� �	 ��� !��������

�������!� 	& ��� �4
	�4�!( 4	�!���5 �	!����	! 0���� �
 ��/�! �!�	 ���	�!�
���	�(� ��� �
� 	& � &���5 � 0�!� !�������� 9�# &	� ��� �3������	! 	& ���
�	���
 	!��!( 4	�!���5 �!��(��� 	3�� aik ∈ Γa :
�� 6)8 &	� �	�� ������
<% ��� �

��!	�� 45 Ei �!�Hi ��
 ����3��5 ��� �	���! 3���	�
 (Eil)1≤l≤di

�!� (Hil)1≤l≤di
%

E2% :�< ��! 4� ��0�����! �
B{
M ε

i ∂tEi = KiHi −
∑

k∈Vi
SikHk,

Mμ
i ∂tHi = −KiEi +

∑
k∈Vi

SikEk,
:)<

0���� ��� 
5�������  	
���3� ��;!��� ��

 �������
 Mσ
i :σ 
��!�
 &	� ε 	� μ<�

��� 
5������� 
��=!�

 �����# Ki :4	�� 	& 
�>� di×di< �!� ��� di×dk �!���&���
�����# Sik 0����B

(Mσ
i )jl = σi

∫
τi

t�ϕij · �ϕil, 1 ≤ j, l ≤ di,

(Ki)jl = 1
2

∫
τi

t�ϕij · �����ϕil + t�ϕil · �����ϕij ,

(Sik)jl = 1
2

∫
aik

t�ϕij · (�ϕkl × �nik), 1 ≤ j ≤ di, 1 ≤ l ≤ dk.

:�<

��� ���� ��
�����������

��� 
�� 	& �	��� 
5
��� 	& 	���!��5 ��=���!���� �2����	!
 &	� ���� τi� E2% :)<�
��! 4� &	�����5 ���!
&	���� �! � (�	4�� 
5
���% �	 ���
 �!�� 0� 
�  	
�
���� ��� �������� :��
 % ��(!����< �!/!	0!
 ��� (������� �! � �	���! 3���	� E

:��
 % H< 	& 
�>� dg =
∑Nt

i=1 di 0���� Nt 
��!�
 &	� ��� !��4�� 	& �����!�
 �!
Th% ���! 
5
��� :)< ��! 4� ��0�����! �
B{

Mε∂tE = KH − AH − BH + CEE,

Mμ∂tH = −KE + AE − BE + CHH,
:,<



��	� 
���
� �
� ������� 
� ����������� �

���� ��,

0���� 0� ��3� ��� &	��	0�!( ��;!���	!
 �!�  �	 �����
B

• Mε, Mμ �!� K ��� dg × dg 4�	�/ ���(	!�� �������
 0��� ���(	!�� 4�	�/

�2��� �	 M ε

i , M
μ
i �!� Ki ��
 ����3��5% Mε �!� Mμ ��� 
5�������  	
���3�

��;!��� �������
� �!� K �
 � 
5������� �����#%

• A �
 ��
	 � dg × dg 4�	�/ 
 ��
� �����#� 0�	
� !	!�>��	 4�	�/
 ��� �2���
�	 Sik 0��! aik ∈ F i

h% ��!�� �nki = −�nik� �� ��! 4� ����/�� ���� (Sik)jl =
(Ski)lj �!� ���! Ski = tSikF ���
 A �
 � 
5������� �����#%

• B �
 � dg × dg 4�	�/ ���(	!�� �����#� 0�	
� !	!�>��	 4�	�/
 ��� �2���
�	 Sik 0��! aik ∈ Fm

h % �! ���� ��
�� (Sik)jl = −(Sik)lj F ���
 B �
 �

/�0�
5������� �����#%

• CE �!� CH ��� dg × dg 4�	�/ ���(	!�� �������
 �

	������ �	 4	�!���5
�!��(��� ����
 &	� aik ∈ Fa

h %

��� S = K − A − BF ��� 
5
��� :,< ��0����
 �
B

M
ε∂tE = SH + CEE, M

μ∂tH = − t
SE + CHH. :-<
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�����
����� 
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 	& ��� 
��4����5 �!�
�	!3��(�!�� 	& ��� ��
����!( +.�+�Ppi

����	� ��! ��
	 4� &	�!� �! 6�8%

� ��
������

 ��������

"	!
���� �  �5
���� �	���! Ω ⊂ R2 0�	
� 4	�!���5 ∂Ω� 	� �  	���	! 	& ���
�
 ��;!�� 45 ��(����  ���������>�� ���3�
% � ��(����  ������	! 	& ��� �	�
���! Ω̄ =

⋃
τi∈Th

τ̄i �! ����!(��
 �
 �

���� 
��� ���� �3��5 ������
� �����!�
τi :�%�%� �! �����!� ��3�!( �� �	
� 	!� 3����# 	! ��� ���3�� 4	�!���5< ��

	!�5 
����(�� 
���
� �!� �3��5 ���3�� �����!� ��
 �� �	
� 	!� 
���� Γi� 	!
��� ���3�� 4	�!���5% E��� �!����	� �����!� ��! 4� ��;!�� �!� ������� �
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� �%�%� 45 �
�!( �! �G!� ��  �!( &�	� � ��
���
�����!� τr �	 �  �5
���� 	!�% �����&	��� �! ��� 3�
� ��
	���5 	& ��� �	���!�
�!��� 	����	! �!� !�������� �!��(����	! ��� 
��!����% ��� ���3�� �����!�
 ���
��� ���(�
 	& τr ���	�(� �
	 ��������� �� 
% ���
 
����	! �
 ��3	��� �	B :�<
��� ��;!���	! 	& �
	 ��������� �� 
 &	� ���3�� �����!�
� :��< ��� ��;!���	!
	& �  �	 �� !�������� �!��(����	! 
����� �	 �3������ ��� �������
 �! E2% :�<
&	� ���� ���3�� �����!�� :���< ��� (�	������ ��� ����	! 	& � 
�4
�� 	& �����!�
��(�
 �	 4� �	!&	�� �	 ��� ���3�� 4	�!���5%

.�3�! �!5 ���3�� ����!(�� τi ∈ Th 
 �!!�� 45 ��� ����� 3������
� (31, 32, 33)�
�	�!��� �	�!������	�/0�
� �! ��� "����
��! �		���!���
 xxx = (x, y)% A� �
�

��� ���� τi �	!
�
�
 	& �0	 
����(�� �!����	� ��(�
 �!� 	!� 
�		��  ������
����>�� ���3� Γi �
 
�	0! 	! $�(% 7% ���
 ���3� Γi �!��� 	����
 ����� !	��
 &	�



��- �� ����

2�������� �����!� �!� &	�� !	��
 &	� ��4�� �����!�% ��� τr = {(ξ, η) ∈ R2 :
ξ, η ≥ 0, ξ + η ≤ 1} 4� � ��	
�� 
����(���
���� ��
��� ����!(�� 0��� 3������

A1, A2 �!� A3 �! ξξξ = (ξ, η) �		���!���
% �! τr� ����� �#�
� Mn = (n+1)(n+2)/2
&�!����!��� !	���  	�!�
� Ai, i = 1, . . . , Mn� �!�����!( ��� ����� 3������
% ���
{L(n)

i (ξξξ)}Mn
i=1 4� � 
�� 	& ���� &�!���	!
 ��;!�� �! τr 
��� ���� L

(n)
i (Aj) = δij

:��� H�	!��/�� �����< &	� i, j = 1, . . . , Mn� �!�
∑Mn

i=1 L
(n)
i = 1% ���!� ���

���3�� ����!(�� τi �
 	4���!�� �
 ��� ���(� 	& τr 45 ��� ��  �!( :
�� $�(% 7<

τi 
 xxx = Ψτi
(ξξξ) :=

Mn∑
i=1

L
(n)
i (ξξξ)3i : τr → R2, :�<

0���� 3i, i = 4, . . . , Mn ��� 
	�� !	���  	�!�
 ��;!�� �! ��� ���3�� �����!�
τi% @���� n = 2 ��&��
 �	 2�������� �� �!� n = 3 ��&��
 �	 ��4�� �� % ���

�� � &�!���	!
 L

(n)
i (ξξξ) ��� ��
��� �! ��� �  �!��#%
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 ��!	�� 45 3i�3j � 
����(�� ��(�  �

�!( ���	�(� ���  	�!�
 3i �!� 3j%
A� 
���� �

��� ���� ��� !	��
 ��	!( 31�32 �!� 31�33 �! $�(% 7 ��� �2����5
��
���4����% ��� !	��
 3i (i = 5, 6, 7) ��� ��/�! 	! Γi �! 
��� � 0�5 ���� 3i�3

∗
i

�
  �� �!������� �	 32�33� 0���� 3
∗
i (i = 5, 6, 7) ��� ��;!�� �
 �! $�(% 7% ���!�

E2% :�< ������
 �	B

Ψτi
(ξξξ) = 31 + (32 − 31)ξ + (33 − 31)η + a

(n)
11 ξη

+H [n − 3]
∑
i�=j

i+j=n

a
(n)
ij (3̃)ξiηj , 1 ≤ i, j ≤ n − 1, :7�<

0���� 3̃ ��� !	��� 3����
 ��;!�� 	! τi� H [n − 3] �
 ��� 0����/!	0! @��3�
���


�� &�!���	! �!� ��� �	�G���!�
 a
(n)
ij (3̃) ��� (�3�! �
B

a
(2)
11 (3̃) = 4(35 − 3∗5), a

(3)
11 (3̃) = 9

2
((36 − 3∗6) + (37 − 3∗7)),

a
(3)
21 (3̃) = 27

2
(36 − 3∗6), a

(3)
12 (3̃) = 27

2
(37 − 3∗7),

��� I��	4��! �����# 	& ��� �� Ψτi
�
 ��;!�� �
 JΨ(ξξξ) = ∂xxx

∂ξξξ
�!� ��
 ������

��!�!�� ��!	��� ‖JΨ‖� �
 �  	�5!	���� 	& ��(��� 1 &	� 2�������� �� � �!� 	&
��(��� 4 &	� ��4�� �� B

‖JΨ(ξξξ)‖ =
∑

i,j≤1
i+j=1

J
(n)
ij (3̃)ξiηj + H [n − 3]

∑
i,j≤2

J
(n)
ij (3̃)ξiηj ,

0���� ��� �	�G���!�
 J
(n)
ij (3̃) ��� ��
��� �! ��� �  �!��#% $	� 
�G���!��5 
����

h� ��� ��  �!( �! E2% :7�< �� 
 	!���	�	!� ��� ����!(�� τr 	!�	 ��� ����!(�� τi

�!� ‖JΨ‖ �
 ��=���!� &�	� >��	 	! τr 6778%

�! 	���� �	 �3������ ��!�
 �!��(���
 	3�� ��� ���3�� ��(� Γi� 0� �!��	���� ���
&	��	0�!(  ���������>���	!� ΦΓi

: t ∈ �ref → R2� 
��� ����

ΦΓi
(t) =

⎧⎪⎨
⎪⎩

32(1 − t) + 33t + 4(35 − 3∗5)(1 − t)t, &	� 2�������� �� ,

32(1 − t) + 33t + 9
2
(36 − 3∗6)t(1 − t)(2 − 3t)

+9
2
(37 − 3∗7)t(1 − t)(3t − 1), &	� ��4�� �� ,

:77<
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0���� �ref = [0, 1] �
 �! $�(% 7% A� 0��� �

��� ���� ��� ��
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$�(��� 7B *�  �!( Ψτi
�! E2% :�< &�	� ��� ��
��� ����!(�� τr 	!�	 � ���3��

����!(�� τi �!� �����
�	! ΦΓi
�! E2% :77< ����  ���������>�
 ��� ���3�� ��(�

Γi% �! ;(B�� ��� 3∗5J(32 + 33)/2� 0���� 3∗6J(232 + 33)/3 �!� 3∗7J(32 + 233)/3
�! ;(B�� �4%

��� 0��/ &	�� �	 4� 
	�3�� ��2����
 ��� �3������	! 	& ��� �������
 �!
E2% :�<% ���
� �������
 �!3	�3� �!��(����	!
 ��	!( �����!� ��(�
 �!� �! ���
�����!� �!����	�
% ��� �!��(���
 �! �����!�
 !	� ��3�!( �! ��(� ��	!( ��� ���3��
4	�!���5 ��� �	� ���� �
�!( 
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�!( �! �G!�
��  �!( &�	� ��� ��
��� �����!� �	 ���  �5
���� �����!�% ��!�� ��� I��	4��!
	& ��� �G!� ��  �!( �
 �	!
��!�� ��� �������
 �! E2% :�< ��! 4�  ���	� ����
�!� 
�	��� &	� ��� ��
��� �����!� �! ��3�!�� 	& ��� ���! ���������	! 	!�� �!�
&	� ���% E����!�
 0��� 	!� ��(�� Γi� 	! ��� ���3�� 4	�!���5 ��2���� 
 �����
����!��	! 
�!�� ��� �������
 �! E2% :�< 
�	��� 4� �	� ���� �!� 
�	��� &	� ����
���3�� �����!�% �0	 ��
�
 ��
� 4� �	!
������B ��!� �!��(���
 :�
����5 �������
�	 ��� �� ����!����	! 	& !������ 4	�!���5 �	!����	!
 	� �	 9�# �3������	! �!
��� +. �	!��#�< �!� 3	���� �!��(���
 :
��!���� �!��(���
 �! ��� �����!� τi<%
��� ��!� �!� �����!� �!��(���
 �	 4� �	� ���� 	! � ���3�� �����!� τi 0��� 	!�



�)� �� ����

���3�� ��(� Γi = ΦΓi
(�ref )� ��! 4� �# ��

�� �


��!� �!��(���
 : IΓi =

∫
Γi

f(xxx) dxxx =

∫
(ref

g̃(t)‖JΦ(t)‖ dt,

E����!� �!��(���
 : Iτi =

∫
τi

f(xxx) dxxx =

∫
τr

g(ξξξ)‖JΨ(ξξξ)‖ dξξξ,
:7�<

0���� f �!� g ��� �0	 ��(��!(�  	�5!	����
 ��;!�� ��
 ����3��5 �! τi �!� τr


��� ���� f = g ◦ Ψ−1
τi
� g̃ �
 ��� ��
������	! 	& g �	 �ref � �!� ‖JΦ(t)‖ ��!	��


��� !	�� 	& ��� ��=���!���� 	& ���  ��������>���	! ΦΓi
:0����� �! (�!����� �


!	� �  	�5!	����<% EG���!� ��4����� &	�����
 ��� �
�� &	� ��� !��������
�	� �����	! 	& ��� �!��(���
 �! E2% :7�<� !����5

IΓi ≈
nip∑
i=1

g̃(λi)‖JΦ(λi)‖ωi �!� Iτi ≈
nip∑
i=1

g(λi)‖JΨ(λi)‖ωi, :7�<

0���� λi �!� ωi ���� ��
 ����3��5� ��� �		���!���
 �!� 0��(��
 	& ��� nip �!���
(����	!  	�!�
 �! �ref 	� �! τr% � .��

���(�!��� 2��������� �
 ��	
�! &	� ��!�
�!��(���
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 0� �
� ��� 
5������� +�!�3�!� ��4�����
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�� 6�8% ��4�� 7 (�3�
 ��� !��4�� 	& ��4�����  	�!�
 nip� ��� "�?
���� �!� ��� ���	�5 	3������  �� �����!� &	� �	� ���!( �!� 
�	��!( ���
�������
 �! E2% :�< �!�����!( ��� �!3��
� 	& ��� ��
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�� (ref �� τr �� (ref �� τr
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!�������� 
	����	! 	& ��� �0	�����!
�	!�� *�#0��� �2����	!
 �! ��� �*  	�
����>���	!� �%�%� 0� 
	�3� &	� (Hx, Hy, Ez)% �! ��� &	��	0�!(� 0� �	!
���� ��� ��
�
0���� ��� �	��� �!��� 	����	! ��(��� pi �
 �!�&	�� �! ��� �����!� 	& ��� ��
��
�%�%� pi = p� �!� ��� ��
�	!��!�	�
 .����/�! 
�����  ��
�!��� �! �����	! � �

��&����� �	 �
 +.�+�Pp% ��� 
�������	!
 0���  ��&	���� 	! � +��� �����
�	!
*�� 0	�/
����	! �2��  �� 0��� �! �!��� "	�� � "�? �%7� .@>  �	��
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 yJtan(3π/7)x� x2 + y2J1/4
�!� ��� x��#�
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�� $�(% �<% ��� 4	�!�����
 	& ��� 
���	� ��� �

���� �	 4�
 ��&����5 �	!�����!( �!� ��� �������� �
 ��/�! �	 4� ��� 3������ �%�%� εJμJ1
�! !	�����>�� �!��
% ��� �#��� ������	���! 
	����	! �


Ez = Jν(ωr) sin(νθ) cos(ωt),

0���� ωJ16.75883874736728 :�%�%� ��� &��2��!�5 $J-�� *@>< �!� νJ14/3 ���
	4���!�� 45 �!&	���!( ��� �E" �	!����	! 	! ��� 4	�!�����
% ?
�!( *�#0���1
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� 	!� ��! ���! ���	3�� ��� 
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 &	� ��� ��(!���� ;��� �	� 	�
!�!�
%
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�� ����	�	�	(5 0�  ��
�!� �	� �����	!
 0���  	�5!	���� �!��� 	����	! � 
�	 ��(��� p = 4 �!� 0��� �G!�� 2��������� �!� ��4�� ��  �!( &�	� ��� ��
�
��� �����!� �	 ��� ���� ���3�� �����!�
% ��� 3���	�
 �	� �����	!
 ��3� 4��!
 ��&	���� 	! &	�� 
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�	0
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L
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4 = 4λ1λ2, L

(2)
5 = 4λ2λ3, L
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6 = 4λ1λ3.
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(2)
ij ��� B

J
(2)
00 = D(e2,1, e3,1), J

(2)
10 = D(e2,1, e5,5∗), J

(2)
01 = D(e5,5∗ , e3,1).
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2
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(3)
11 = 27(L2 − L3), J

(3)
20 = 27
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L1, J
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02 = −27
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L4,

J
(3)
21 = 243
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D(e7,7∗ , e6,6∗), J

(3)
12 = J

(3)
21 , J

(3)
22 = −9J

(3)
21 .

0����

L1 = D(e2,1, e6,6∗), L2 = D(e2,1, e7,7∗), L3 = D(e3,1, e6,6∗), L4 = D(e3,1, e7,7∗).
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